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MENTAL ABILITY AND SCHOLASTIC APTITUDE TEST
HrsTra GaraT o fefmt &t dargr & Y

Time : 3 hours Max. Marks : 180 Mt 3 U a5 W : 180

Instructions for candidates:- ffeerat set gerfegt:
1. This exam is in two parts. 1. fegfiftpwr S grar fif9 91
2. Part-l is related to Mental Ability Test. 2. Ufgsgarsiaa G as Mfug &1
3. Part-H relates to Scholastic Aptitude Test. It consists 3 g?rr grar fefmd™ & Garg 578 a1 fer i
of nine subjects, details of which are given below:- & felas, fagt erdger s fegr -
i)  Physics i) Chemistry i) Soafeforws i) awfesfefanrs
i) Biology iv)  Mathematics iiiy Aefefas  v) afeg
v) History vi) _ Geography B Cfeftsom vi) 9B
vii) Civics viii) % English viil) | ZafaE EHET  vii) T
ix) Punjabi x)  Hindi %) &9 x) fI
4. Each question carries one mark. All questions " Y e a -
d WIS A T feaums o ey 7 e wedt s |
compulsory. ) =
5. Youhave been provided with a answer sheet (OMR) > - = fer se?“_ H‘lE: a:@ E{I
for this question paper. Darken the correct option of &9 Hie (€ i ) f& s < At €39 2
each question in the answer sheet (OMR) with TBY/B18! it 578 3T & €IS
black/blue ink. 6. TTranfeFtamt watar Iaaard
6. Rough work may be done on the provided blank 7. fermyms vge fee faeava (Eafe=) wafdar a4t
space. a
Jl

7. There is no negative marking in this question paper.

8. §37 Hie (€ i »w9) Gug =oie efslw ¥t =93
8. Donot use white fluid on OMR Answer Sheet, sratgta=
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National Means cum Merit Scholarship- 2016, Class-VIII
Yifymr-2016, AN M 6=

Mental Ability
Direction (Q. 1-2) find the odd term
1. 1 3 2) 5
3) 9 4 13
2. 1) RT 2) KL
3) WY 4) MO

Direction (Q. 3-4) According to specific pattern fill the
blank spaces of letter/number series in following
questions.

3. abb_baa_a bab_ab
1} abba 2) abab
3} ccac 4) aabb

4. T.CNPNTC
1) PNTCT 2) TCCTN
3) NPTCP 4) NPCPT

5. Which of the following diagrams correctly represents
elephants, cows, animals?

5 @
L DA

6. Ahillalwayshas...............
1) ftrees 2) animals
3) water 4) height

7. How many numbers from 1 to 100 are divisible by 12,
but not divisible by 367

b 6 2) 7
3 8 4) 4

% Which word cannot form from word
INDIAPUNIJAB
1) JANAB 2) JAIDNA
3) PUBLIC 4) PIANAJ

HTsRE darar
frvew: (yEs 1-2) 8w feasu et §eas!
1. 1) 3 2) 5

3) 9 4) 13
2. 1 RT 2) KL
3 WY 4 MO

faodm: (Fs 3-4) 35+ fe'ght aehut »iwa/a
wEPat 9 4B Ft ardhat wret famfes gy ur

HEHIIT|

3. abb_baa_a bab_ab
1) abba 2) abab
3) ccac 4)  aabb

4. T CNPNTC
1) PNTCT 2)  TCCTN
3) NPTCP 4 NPCPT

5. &3 o fo3ar (&9 faag a9 oy, aret, araear
Fndteanr@erd?

1) 2}
3) % 4)
6. fETur=ew3 Is fofimt feg Araga 37
1) eHT 2) w&Eed
3) uy=t 4) Qo
7. 110033 wfadvags T 12 s Faraid o
RS T8 UT 36 578 3731 541 S Arvae?

1) 6 2y 7
3) 8 4) 4

8. HWINDLAPUNJAB F ooz maw &4t gEfenr 77
AaaT?
1) JANAB 2) JAIDNA
3) PUBLIC 4) PIANAJ
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10.

M

12.

13.

14,

15.

16.

The month November in a year starts with Sunday .

which will be the last day of that month.

1) Sunday 2) Monday

3) Tucsday 4)  Friday

Choose the set of numbers from the four alternatives
whichis similartoset(6, 13,22).

1y (11,18,27) 2)  (16,23,30)

3) (10,16,28) 4) (13,19,27)

H‘+ means “+’, =’ means x, ~ means + and ‘x’ means

‘~’Thenthe valueof
36x12+4+-6+2-3="7
1) 2 2) 18
3) 42 4 36

If L stands for +, M stands for —, N stands for x, P
stands for + then

14N10L42P2ME=7

1) 153 2 216

3} 248 4y 251

H ‘+’means —, ~ means —,—means X, X means +, then
12+6+3-2x8="7

n -2 2y 2

3 4 4) 8

If ‘cow’ is called ‘goat’, ‘goat’ is called ‘Lion’y Lion’
is called ‘dog’, ‘dog’ is called “snake’, “snake’ is
called Elephant. Then which is called\King of Jungle
(Forest)?

1) Elephant 2)

3)  Goat 4)

Snake
Dog

According to dictionary order which word will come
first _

1) CHAIR 2) CHARM

3y CHAMP 4) CHAEN

According to dictionary order which word will come
at fourth place.

1)  Express 2) Extend

3) Expand 4)  Expire

. g fem vt v wmya? fos fagar i2qm?
1) wM3Td 2) AHETE
3) HIBIT 4) go9ed

10.

11.

12.

13.

14,

15.

16.

(6,13,22) s HB yET g |

1) (11,18,27) 2)  (16,23,30)
3 (10,16,28) 4y (13,19,27)
Held 4+ € HIBT '+, ‘T BT HIBY X, + THIBY ‘4

wMI X THIBT — F I
36x12+4+-6+2-3="

1 2 2y 18
3 42 4) 36
HIT L e HIBT+ MOTHIBY - N TTHIST X, I Per

HIBT+de It
14N10L42P2M8=7

1) 153 . 2)
3) 248 4)

216
251

AT+’ ETHIBH +, + ETHIBT —, - TTHIBA X, X T
HIZBg+3= 3t
12+6:3-2x8=7

1 -2 2y 2

3) /4 4) 8

FAI IS Fad!, S S AT, M E T I, g S AU, AU S
It faar e 3T Has e g faw & faar arear?

1) T : 2) WY

3) daqdt 4) g3

Wi HECEI AT faosT ree A 3 ufeet wraar?
1) CHAIR 2) CHARM

3) CHAMP 4y CHAEN
WEw! AICaA MERTE (gosT fee ©F AETs 3 wrEar?
1) Express 2)  Extend

3) Expand 4y  Expire
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Directions (Q. 17-18) Developing reclationship
between left of sign :: among words / nun:bers find
same kind of relationship among werds/numbers on
the right side of sign :: in given questions.

17.

18.

19.

20.

21

22,

23.

23:49 1 747

1) 1649 2) 1223

3) 1648 4) 4916
Water : Thirst :: food : ?

1) Stomach 2) Hunger
3) Push 4)  Fruit

IfTINU is 2091421 then BIRA is ?
1) 19191 2)
3) 91821 4)

11892
29181

IfFTEACHER is VGCEIGT then CHILDREN is?
1) EJKNEGTP 2) EGKNFITP
3) EJKNFGTO 4) EJKNFTGP

In certain language the STATEMENT is coded as
TNEMETATS. In the same language what will be the
code of POLITICAL? K

1) - LCATILIOP 2) :LACITILOP

3) OPILITACL 4)  OILTICAL

3 4 4 6 5 7
7 j/ Y

1y 2 2) 25

3) 33 4 24

16 12 2 9 IY?
14 X 16

y 21 2) 12

3) 32 4 22

fradm: ((ES 17-18) fE™9 faus : @ ¥ ui maet/mivgt
feud #4q »igwe faws = @ WR UR R Sgt o iy

AUz add Rt feaaydt g ad|
17.23:49:74:7
1) 1649 2y 1223
3) 1648 4) 4916
18. et : iR A& 0 7
1) fHger 2) g9
3) ugv 4) TB
19. AFd TINU -2091421 3& 3 BIRAF g2 ?
1) 19191 2) 11892
3) 91821 . 4) 29181
20. #ad TEACHER — VGCEIJG J= 3t CHILDREN &t
gear?
1) EJKNEGTP 2)  EGKNFITP
3)  EJKNFGTO 4) EJKNFTGP
21.faw ﬁ? IFH" fe“—tr STATEMENT eva3g TNEMETATS
Ina QR I T POLITICAL e a5 EH |
1) .- LCATILIOP 2} LACITILOP
3y QPILITACL 4y OILTICAL
22.
3 4 4 6 5 7
7 Y Y
17722 2y 25
3y 33 4) 24
23.
16 12 21 9 10 ?
14 15 _ 16
1) =21 2y 12
3y 32 4y 22
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24.

25.

3

12 4 6

2 5 18 2 2

3 5 ? 2
9

) 15 2) 16
3) 17 4 18
1) 34 2) 44
3) 54 4) 24

Directions (Q. 26-28) In a school among five teachers A
and B teach Hindi and English, C and B teach English
and Geography, D and A teach Mathematics and
Hindi. E and B teach History and Physics.

26.

27.

28.

29.

Who among teachers teaches maximum subject.
N A 2) B
3) C 4 D

More than two teachers teach which subjeets-
1) Hindi

2) Mathematics

3) Hindiand English

4) Hindiand Mathematics

D, B and A teach which of the following subject-
1) Hindi

2) English

3) Hindiand English

4) Englishand Geography

Ais brother of B, A is the son of C, D is C’s father, how
BisrelatedtoD

1) Son 2)
3) Brother 4)

Grandson
Grandfather

24.

25,

3

12 4 6

2 5 18 2 2

3 5 2
9

1) 15 2y 16
3 17 4y 18
1) 34 2y 44
3) 54 4) 24

feaem: (Yus 26-28) fo'x Ags fo's Uw wiferys 99 A
w2 B f&& »i3 WiEE v 92 951 C o2 B et w3
FIBUZES 75, D I A afzg w3 A ug @R 9 IE

3 B fefaomwad fefmamugr@eas
26. faagrmfmpua Ag I o feruzr@erd?
1) A 2) B
3) C 4 D
270 @ 3 femre sifenrua faos ferug@e us?
1) fdet
2) | @fe=
3) 1 fa<t a3 wapet
4y faetmafes
28. D, B3 Afaae fenr/fem ugr@eas?
1) fa=r
2) RgE
3) ot mIwaEt
4) WEHETHIS FIS
29. A, BT T dIA, CerygediD, Cerfugrd,BerD

ma‘rf‘ana'fi‘r?

1) uUgdd 2) U3dr
3) =4 4y €%
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30.

31.

32.

33.

34,

35.

36.

Based upon the given figure of dice which face will be
opposite to face?

N 6 2) 5
3) 2 4 4

Six persons A, B, C, D, E, F are standing in a circle
facing towards centre. B is between D and C, A is
between E and C, F is to the right of D, who is
betweenAand F.

) E 2) D
3) B 4 C

How many 5’s are there in the following number
sequence which are immediately preceded by 4 and
immediately followed by 67

735145662424563125

1) One 2y Two

3} Three 3) Four

Davinder Ranks {5th from the top side and from the

bottom side 1n a class. How many students are there
inthe class

1) 30 2) 29

3 31 4) 32

In a certain code ‘467, means ‘leaves are green’,
‘485’ means ‘green is good’ and ‘639" means ‘they
are playing’ which digit stands for *leaves’ in that
code?

1) 4 2y 6

3y 7 4) 3

A man is facing north-west. He turns 90° in the clock
wise direction and then 135° in the anti clock wise
direction. Which direction 1s he facing now?

1) East 2)  West
3) North 4) South
Raghbir walks a distance of 3 km towards North, then

turns to his left and walks for 2 km. He again turns left
and walks for 3 km. At this point he tums to his left

30. fia'gt aret faret & f9'39 »igwma w1 @ feyudis faaar

31.

32.

33,

34.

35.

36.

W J=ar?
l 1 3 3 5
1) 6 2y 5
1y 2 4) 4

& farast A, B,C,D,E, Ffegvgaavdeasg=ug dv
feR Iy uIT& T B, DI C ¥ ffaaadIA En3 Ce
e TIF, DA URIIER AnI F e fdfagede
ar?

1) E 2y D

3) B 4 C

fovs a3t fefgwa 5 fad aret 'Fafag T fan feawa 5
FufagT 4 nr@er T w3 gme fegna 6 wderdd)
735145662424563125
1) fea 2) ©

3y f3= 4) 939

gfevger a3 fEF Quad U M3 Jat T B URT 1 5¢
waE 7 1SR g feg as fad fefenmudt a1

1) 30 2y 29

3) 31 4) 32

o g f&'F *467° @ »idw ‘leaves are green’ F1 485’
T MPE ‘green is good’ I W *639 T wdd ‘They are
playing’ & IfeRn g f€9 Leaves erag €1

1)y 4 2) 6

£y 4) 3

fea fouaat €' 39-u'ew ferr e rroveT a9 faor 3164
uF byt FEba A 90° F HF famm w3 feg 135°
urFt St gEbT & @ee ferm wigwme 3 famr, g G

fan ferr v e ag fagr J7
1) yad 2) ueW
3y €39 4) THE

quAg 3 fa . g ferr o Aiev d, fed Qo T U Y=
&2 fa st Aer JIfes s FUT UR HEeT I WS 3 fa it
geordiferfig FGonm@ iR s e ImI 3
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37.

and walks for 3 km. How many kilometres is he from
the starting point?

1} lkm
3) 3km

2)
4)

2km
S5km

76N 2
4 \3

5

Triangle represents people in the first age group ie
40-50 years. Square represents the second age group
ie 60-70 years and Rectangle represents the third age
group ie 30-40 years. The portion which represents
all the three age groups is?

) 2
3) 4

2) 7
4 6

Directions (Q. 38-40) There is a number series

37.

fam.mfrlgam@mﬁaﬁg?fﬁ%mﬂaa
gat'FI?

1) 1faxt
3)  sfast.

2 fa o,
s far Mt

2)
4)

76N 2

/s X
f3q= 40-50 % S ufod rg Taar e Sat § wam Qe N
31 60 3 70 A% T g g Teer § wang e Yinrfes
30340 7E ¥ I Qva Taar 2 Bat § wew e IS
Svazaare Sat § wom@e st fow fagerdr
1) 2 2) 7
3) 4 4) 6

foaew (yus 38-40) 35 fo8 yust fao wiat &t =t st
et 3, wat {9 AT 31 y=t 5t g9 ot fed a® oy

following a pattern. One place is left black find out the feaaut fe S mat Caasd)
correct answer from the op‘t)ions. 38.4,7,12,19,28 9
38 ?;7’ 1320’19’28’———' ) 36 1) 30 2) 36
3) 39 4) 49
) 39 4 49 :
39. 27.64.125.216. 343 9 39.27,64,125,216,343, ?
])‘ 519 2) 512 1) 519 2) 512
3) 459 4 521 3) 459 4y 521
40. 6,11,21, 36, 56, ? 40.6,11,21,36,56, .~ ?
n 42 2) 8l 1), /142 2) 81
3 sl 4 9 3) 51 4y 91
41. I;igure q‘x’ is hidden in which of the given four h A A o s fam fe g SR O
gures? 5
Sllo|Siovl g Sl S|ov g
X 1 2 3 4 x 1 2 3 4
42. Find the mirror image of figure ‘x’ 42, fggg ‘x’eroaus eryGEfia 59|
(x) 1 2 3 4 x) 1 2 3 4
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43, Find the water image of figure *x’.

19,

(x) (1) (2) 3) (4)

44. Which figure among four alternatives will complete

Sal a4

) 1 2 3 4
Direction (45-46) figures A and B are related in some
way. According to some relation replace question
mark.

45, Questionfigure

OB

A B C D
Answer figurc

| |<P

1 2 3 4.

46. Question figure

AP [>::@: ?

A B c D
Answer figure

© bR O

(1) (2 (3) 4)
Directions (47-49) which figure among 1, 2, 3, 4 will
replace the question mark according to series?

®, | ?

47. Question figure

2 | =

Answer figure

£12142

hn @ O (4)

43 faggx eruteryAfae s

45

A
AR

N
K

(x) (1 (2) (3) (4)
44 fg'39 'x’yor a9& Be1 9t fe 9 At feasu et se aq|

=\ 72|V

(x) 1 2 3 4
faaaw (UHE 45-46) fE'39 A w3 B fRe nrun iT v aet
FéT 3187 ot g wige yms & < wapt faoar fa'ae

B2

45, ymsfazge
A B Cc D

Db

1 2 3 4
46. yas fo'ag
AP [>::@: ?
A B c D
EECACES)

O O P

(1) (2) (3) (4)
faaaw (qus 47-49) fe'a Bt g fagsy 1,2, 33 4

¥ fauar fe'goyEs wa St /qT 3wt

47. yrs fase
PETIEE

CECACED)

121414

nHn @ 6 @&

2]
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48. Question figures 48 . ywafezy

bad i Pt i K RaS i FaSie sk

Answer figures Faefaae
M @ @ @ M @ @ @
49. Question figures 49. yrs ez
1 ) ? -
“ p j 4: ?
Answer figures? EECIEET)
ol || L ]| [+ | Ao |
(1) (2) (3) 4) (1) (2) (3) (4)

50. fe 3w fegefeafas saaros?

50. How many squares are there in given figures?

1) 6 2)

D 6
) 2 3 3 4 a)

3) 4 4) 3
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51,

52,

53.

54.

55.

56.

PHYSICS
Ifaa fefarnrs

If an object moves from 0 towards east & covers 4 cm
and then it moves 3 cm towards north. What will be
the displacement traversed by the object.

D 7cm 2) Scm
3) lem 4) -lem
AN
% 0 »E
L )

Anobjectis 0.65 long. What will be its length in mm?
1) 650 2y 65
3) 6500 4) 65000

A pendulum oscillates 240 times in 4 minutes. What
will be its frequency?

1) 60Hz 2) 1Hz
3) 960Hz 4) 2Hz
Focal length of a plane mirror is -

1}y +ve 2)__ zero
3) 45, -ve

The necessary requirement for a fuse wire s -
1)  Conductor with low melting point.

2) Conductor with high melting point.

3) Insulator with low melting point.

4) Insulator with high melting point.

Arrange the different forms of frictional force in
descending order -

1) Rolling, sliding, static
2) Rolling, static, sliding
3) Static, sliding, rolling
4) Sliding, static, rolling

51.

52.

53.

55.

56.

e A g 0 T I A YT & 4 A . gt Sfoaeet
¥z feg € 3gen &3 it. Sfoaeet I Ir g T

Sfgstgr ferarus fdsdar?
1) TR ML 2)  SEHAM
3)  1RHY. 4) 1R
AN
< o —»E
w5

fia%ngO.ﬁSﬁ.éﬁﬁlﬁ@Wh%@nengé
et fgat g=aft?

1) 650 2)
3 6500 4)

6.5
65000

feq igev 4 e’ f€'e 240 =9 qus gaer J1fer &t
arfedtuzT 31

1) 60gded 2y lgged
3} B60gded 4) 23ded
IS TIUS T EIHTH .o, e e
1) TEEHT 2) faee

3} WME3I 4) faeTaHd

feGm=at I fad fAd ueea ¥ get St et 37
1) wefnmGeaaTdesadl
2y <ufiusGead T IBa et
3)  wizfuwsEedd T8 Jua o
4y FufiusGoaa s Iuadl

FF IS T Y-Sy U Fuee e founaraee|
1) *Ba,raa<HE, Afafsa
2) @3l Afafaa, AgaeHs
3) wfafza, Aga=HE, 88T
4) FaaeHs,nfafay, 2ws)
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57.

58.

39.

60.

61.

62.

The object to be electroplated is made-
1) Cathode 2)  Anode
3) Cathede oranode 4)  mercury

Shriliness of sound depends upon its -
2)  Amplitude
4)  Wavelength

1) frequency
3) Velocity

The part of eye which impart colour to eye is -
1}y  pupil 2)
3) Iris 4)

comea

Blind sport

Name the device which is used to protect the
buildings. It is in the form of long metallic rod.

1) 2)  Cell
3) Lighteningconductor 4) Insulator

Volt meter

When the sunlight is dispersed in its constituent
colors, the phenomenon is called -

1) 2)
3) 4)

Dispersion Callidoscope

Plane mirror Lens

From the following pressure is equal to -

1) Force 2)  time
time displacement
3) Force 4)  Friction
Area {where force is applied) Volume

10

57.

58.

59.

60.

61.

62.

frareng e famsehvdhraes s9aT 32 €9 -

1) dEFFed 2) WaIgerd
3) SEFATNET 4) uar

gat St FhwEar s fey fes fait 3 fsgsaaaat 37
1) wfedts 2)  WEHI
3y TNT 4) I EETEr

ufue*@vmfma*#uiséaﬂ%vﬁ'l@nﬁa’rwu%
T&5?
1)
3)

ygasEt

nfEgR

ALY

2)
4}

@ 699 v &t F fan @ 2a3 fevrgat serle wet fow

34l I eI BIra AT Fet T
1) Ssevies 2) A
3} weH farst s 4) oOBE

Hawt e & i Far ' fowms § st et aa?

1) =zI5fauus 2) SEEignRay
3) AHIBEIUS 4) Bad
4% fafunr f€§ ore fane sargg Jerde
1) 9% ' 2) At
AT fermgrus
3) #% 4) FaF
HI9SH (& fhosaed wfegs
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63.

64.

CHEMISTRY
Jafee fefaris

What is the source of natural indicator litmus

1) 2)
3) 4)

Turmeric powder Lichen

Phenoliphthalein Calcium oxide

Name the chemical reaction occurred when we apply

_ sodium hydrogen carbonate to lesson the affect of ant

65.

66.

67.

68.

69.

70.

bite on human skin.
1)
2)
3)
4)

Displacement reaction
Neutralisation reaction
Double decomposition reaction

Decomposition reaction

When we pass carbon-dioxide gas through lime
water. It turns milky due to formation of which
chemical compound.

1) NaHCO,
3) NaCO,

2)
4)

CaCo,
Ca(HCO,),

What is nature of sulphur-dioxide gas.
N 2) basic
3 4) acidic and basic both

acidic

neutral

Which of the following metal is stored in kerosine oil
1) Na 2) Fe
3) Mg 4% Ca

Which of the following non-metal is stored in water.
2)
4)

Phosphorus

Chlorine

1) Oxygen
3) Nitrogen

When aluminium metal reacts with freshly prepared
solution of sodium-hydroxide which gas is produced?

2)
4

1) Oxygen Hydrogen

3) Carbon-dioxide Nitrogen

When natural gas is compressed under high pressure.
Name that gas which is formed.

1) Butane 2)
4)

Methane

3) Biogas CNG

11

63.

64.

65.

66.

67.

681

69.

70.

gegdt gua fsam fa g yug e d?
1) Jo<r 2) TEES
3) Eeusis 4) ABHIHHWMEATES

7o R faA vy F Bt I I ST @@ e F LT IS
s 3T AT (At ooISdAs a98de) ot 3
warfemr ateT I 3t fauat anfeea fafowr =rug<t 37
ferarus fafen 2) Govage faforr
godt feranus fafanr  4)  wiuwes fafomr

1)
k)

7Y FIEsFEPAN s § g8 & uet 199 durfonr
Frer § 37 g8 v et g § wer 91 few fam &<
arfecayege @ ¥E5 qad e I
1) NaHCO, 2)
3) Na,CO, 4)

CaCo,
Ca(HCO,),

ASEIEEhraTag o FITe fan Igt evd?
1) Sudt 2) uvdt
3y Guws 4)  FAdtaIyd

I?

1) Na 2) Fe

3) Mg 4) Ca
%Wmmﬁm%ﬁmmw%?
1) EHIAS 2) @HEIH

3) &EIEdHs 4) TBAE

ABHIEPHH 073 Fgtn T aRTEls © ITH B 578
fafanrada faa=t v Uar aaat 37
1) MRS 2)

3) FPEGTEIARTEF  4) BEICIVS

9 vug Jo eadt gEadt AN § A afde I&7
1 fEges 2} WiEE
3) wfe@dn 4y WwEH.
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71.

72.

73.

74.

Which of the following has the highest calorific
value.

1) Kerosene 2) Biogas

3y LPG 4) Wood

Rayon is made from

1) Wood Pulp 2) Barkof Tree

3) DryLeaves 4} Petroleum Products

Petrolcum with lead affect which system of human
body.

1) RespiratorySystem  2) Nervous System

3) Digestive System 4) Circulatory System
In human bedy iron element is found in-

1)  AminoAcid 2) Haemoglobin

3) Nucleus 4) WBC

12

72.

73.

74.

Sfoafee farerd8Mrs s e S =adr
1) fWder3s 2)  §fe@dw
3) wHE 4) BT
s far g afeour §?
1) sad@tetusy 2) eeuIdtfew
3) Faud 4) UZFshwivaag

AT gag 125 @ 292 &% Walt weie o gt var
Bt ygfeggeord?
1) AOysaEt

3) UEsyIHEt

2)
4)

aETyETst
g IFy==t

Ha 4l Ratg fegnrieas I3 fagufenr aer g7
1) S nfRg 2) dtrargfess
3) dedd 4) WAeEIFIE
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75.

76.

77.

78.

79.

80.

gl.

82.

3)

BIOLOGY
e fefamrs

is aunit of inheritance in living organisms.
1) Cytoplasm 2) Nucleus
3) Ribosome 4) Gene

Which of the following statement is “not true about
manure”

1) Manure is a natural substance obtained by the
decomposition of plant residue as well as animal
waste.

2) Manure can be prepared in field or in open
places.

3) Manure provides a fot of humus to the soil.

4) Manure is very rich in plant nutrients like
nitrogen, potassium & phosphorus.

contains a record of endangered species.

1} Greendatabook 2) Reddatabook

White data book 4)  Yellow databook

Out of the following diseases which disease is not
spread by virus.

13 Chicken Pox
3) Tuberculosis

Polio
Hepatitis-A

2)
4)

Separation of grains from chaff is called

1) Sowing 2) _ Storage

3) Threshing 4) " Harvestmg
During exhalation in humans, the ribs:

1) Move outwards 2) movedownwards
3) moveupwards 4) donomoveatall
Who discovered the circulation of blood?

1)  William Johns 2) William Harvey
3) RobertHook 4) Louis Pasteur
Match the column-I with column-II

Column-I1 Column-II

A. Polio i)  Fungi

B. Cholera ii) Protozoa

13

76.

77.

78.

79.

80.

81.

82.

....................... wrtet i gz efag gret dt fearet 1
1) FERUETMATEE)  2) d99d
3)  greERT 4) &

Jo fafnt &8 fagar ags g e st AR 51”7 T

1) gRyefegaeadtyega I R fadfontn 3 Tt e
femge yerawt @ nuwes T fama derd|

2) gty a9t feo At wat € a9 vEt ot 29 fanrg
AFArAEEt I

3 gEwe A TS B g yE s dael 3

8y g & ye 9 5eeTHn, UeHimd M3 TTRETH
299 tA FF FAYI W IS de 031

..................... f='g Agea&s yardhit e foaras Jfum

il

1) odsFeEd 2) EFTHA

3) FREITTHA 4) UBTeIT

% fai 3ar fe'S fage darfemre ardt st ese?

1} o9 2) ufsg

3y ufex 4y  Juerdtfen-v
ez § R ET Fyaasdifedtdy ... T Iw
1) et 2) gFd%

3) et 4) =

1) o TTId & ardl FITTHT IS |

2y g5 TH I aaa it 95|

3) Q@I IIEH IS

4y fomsaz St sat gt
By-dmetEmfan daist?

1) fefeomdse 2) feferiae’
3) JHdeTHA 4) FENUHST
TTHH- | T THB TS T 8H- 1| 578 Ta:

FEH-| FaH-1|

Ay ufs§ n €=t

By d7 iy R
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83.

84,

85.

C. Rustofwheat

D. Malaria

1)  A-i, B-ii, C-iii, D-iv
2)  A-iv,B-iii, C-ii, D-i
3)  A-iii,B-iv, C-i, D-ii
4. A-ii,B-iii, C-v,D-i

iii) Virus
iv) Bacteria

Which chemical is used to remove the impurities
from impure water?

1} LeadOxide

2)  Ammonium Sulphate
}) BariumChloride

4) Bleaching Powder

A tadpole larva of frog does not develop into an adult

if mineral is not available in sufficient
amount in water,

1) lodine 2)  Sodium

3) Sulphur 4) Iron

Which hormone is produced by ovaries in human

females?
1}  Testosterone 2) Thyroxine

3) Estrogen 4)  Insulin

14

"C) w=adtaait iii)

D) WBdr iv)
1} A-i, B-ii, C-iii, D-iv,

2)  A-iv, B-iii, C-ii, D-i

3} A-iig, B-iv, C-q, D-ii

4y A-u, B-iti, C-iv, D-i

83. WiBauet SS9 mEuby' gd 9 B9t faud aarfee St =93

EiEi ks b
1) BIwaAets 2)  WASPHHRERE
3) SImasTdE 4) mEifdaryQee

84. F T BB w9T {= &V feafra aat § maer, faw On

dustfeg. ... wfew et g g sdt fiuseth
1) nife@sts 2) At
3) H&ed 4) BaT
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g6.

87.

88.

89.

90.

91.

92.

03,

94.

95.

MATHEMATICS

afss

86.

The sum of complementary angles is
1) 270° 2) 90°
3) 180° 4y 360°

In a AABC, AC=5cm, BC=12cm & ZC is a right
angle. Find the length of AB.

13 13cm
3) Scm

2)
4)

12Zcm
2cm

What is the area of a circle whose radius is 30ecm?

1) 2826cm’ 2)  2628cm’
3) 2268cm’ 4)  6822cm’
Find the value of

10+, ‘25+J108+~ [154+15
1 4 2) 6
3) 8 4 10

The no. of perfect cubes between 1 & 1000 is
n 9 2y 10
3y 1 4 13

The average of first five multiples of 3is

) 3 2) 9

3) 12 4 15

x+y’ isequivalent to

) x+yY-dxy(xty)  2) (K-y)

3) (xyY+3xy(xty) 4 xHyE3xy(xty)
(3°+2°)x 5° is equal to

N 2 2) 3

3) 5 4 0

How many lines of symmetry does an equilateral
triangle have?

1
3) 3

2 2
4H 0

What is the height of cuboid whose volume is 275¢m’
and area of the base is 25cm™?

1) 57cm
3) 25em

T5¢m
1lcm

2)
4)

15

87.

88.

89.

90.

91.

92.

93.

94.

95.

A AT WIS T ETST EHUT T oo o
1y 270° 2)  90°
3 180° 4) 360°

AABC @ /C feam@e T1dad AC=5mmI BC=12

M3t AB S 8aEtusTdd|
1 13mH 2)  12m
3) 5AH 4) 2°H
)M vIE feTR =8 SaT T igees U3t a9 (=3.14)
1) 2826mf 2) 2628
3)  2268RW 4) 6822w
HBUITEJ|
10+ I25+JIOS+\ }1 54+15
1 4 2) 6
3) 8 4) 10

15 1000 fee 35 faatu’ Afumret o frasint fa uas
W TE7?

1 9 2) 10

3y 1 4y 13

fax Sufad I g TTHONE J -

1 3 2y 9

3) 12 4) 15

Xy SgEa J -

1) Sty Iy (xty) 20 (0-Y)
Y-y 3%y (x+y) 4y xMy'+3xy (xty)
(3°4+2°) X 5P HITHI T -

1 2 2) 3

3) 5 4) 0
m@@mwamﬁw%?
1) 1 2) 2

a3 3 4 0

Ow wre @t @avet ugT &3 famer wirfeds 275em’ M3

MOI T EIITE 25¢m’ I
1y 57cm 2)  75¢m
3) 25cm 4y 1llem

For Exam Preparation & more content check website https://nmms.successadda.in/


https://nmms.successadda.in/

96. An athelete runs 200 metres race is 24sec. His speed .
is:

1) 20Km/hr 2)

3) 28.5Km/hr 4)

24 Km/hr
30 Km/hr

97. Which of the following number is divisible by4
1) 541326 2) 5967013
3) 67920594 4) 618703572

98. The greatest four digit perfect square number is
1y 9000 2) 9801
3) 9999 4) 9981

99. When the numerator of a Fraction increases by 4, the
Fraction increases by 2/3, then the denominator of the
Fraction is

Iy 2 2 3
3) 4 4 6

100. What is the coefficient of y* in the expansion of
(2x+3y)™?
1y 12 2y 2
H 9 4 3

101. What is the range of first eight prime numbers?

19 2) 13
3) 17 4) 11
102. How 256 can be written as power of 2?
n 2 ) 2
3 2 4 2

103. What is the mean of4.2, 3.8 and 7.67
1) 5.0 2) N285
3 352 4)y 7.2

104. In the given figure, AOB is a diameter of a circle. If
ZABC=60°, then the measure of ZCABis ¢

Iy 60° 2y 30° AB
N

3) 90° 4)  45°

105. Which of the following statements is a wrong
statement

1} O(zero)isarational number
2) 27,isafactorof3
3H . 225 = 15

4) 7isafactorof 56

16

96. fex Fama 200 Hieg & 37 24 Ffde feg v ager ot

g et arat &t Tty
1) 20fa Mt Ader 2) 24fam nler
3)  28.5fa it pirer 4)  30fg M e

97. 35 fafipyt f&'S faoat Sfiorr 4 s gy STy
1) 541326 2) 5967013
3y 67920594 4y 618703572

98. WW%@@?@MMWMMI
1) 9000 2) 9801
3y 9999 4) 9981

99. 7e" faR ufarer ffvmi & i § 4 Turfenr ater § 3t @1
ufana ffimr 2/3 Ut 31 @r ufsi Rfimr er g e
g
n 2 2) 3
3y 4 4) 6

100.(2x +3y)' e TB feey eraefauzTad
1y 12 2) 2
3) 9 4y 3

101 . ufa&8Pt ni's migwa fiftmret &t fegss AW ot Tesf?
1}y 19 2y 13
3) 17 4y 1

102.256 § 2 Sturz @ gufeefad
1 2 2) 2
3) .2 g 2

103.4.2,3 8 M3 7.6 @ HHI UZTHT|
Liw 5.0 2) 2.5
352 4) 7.2

104. fo'g fa'gs @9 AOB fexr o9 o fewm 5 J239
ZABC=60°d2 37 ZCAB 2y &t §2arm?

1) 60° 2)  30° AB
N

3 90° 4) 45

105.95 feuagst feg favgraas awg T -
1) 09 fea ufera Afipar 3
2) 27, 3evgrEsEmd)

3) 4225 =15

4) 7,56TTIgEsuT I
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GEOGRAPHY

AL

106. Which ofthe following is an atomic mineral?

1) Iron 2) Mica

3) Thorium 4) Magnesium
107. Smog is a combination of:

1) Airandwatervapour 2)  Airandwater

3)  Waterand smoke 4) Smokeand fog

108.From which language the world ‘Tsunami’ is
derived?

1)
3)

Chinese
English

Japanese
Sanskrit

2)
4

~ 109. Which of the following is alloyed with copper to
make bronze?

1) Zinc
3) Gold

Nickel
Tin

2)
4

110. In which sphere the Ozone layer is found?
1) 2)
3) Troposphere 4)

Thermosphere Stratosphere

Exosphere
111. Which is the most poliuted city of Punjab?
1) Patiala 2) Ludhidna

3) Faridkot 4) Bathinda

112. In which type of climatic regions;-rice is mainly

cultivated?

1} Hotandmoistregions 2) Verycoldregions

3) Verydryregions 4) Desertregions
113. Bauxiteis an ore of :

1) Ironandsteel 2) Copper

3)  Alluminium 4) Mica

114. Which is the smallest ocean per area?

1) 2)
3) 4)

Pacific ocean Atlantic ocean

Indian ocean Arctic ocean

17

106. I fafipnt fe@ faaa e ufeA yerem’ 37

1} &7 2) EdE

3) &t 4) NI
107.9-0€ famer pis &7

1) TYUHIABEHY 2) TEwIyEt

3) WSt i 4) Patm3 e

108 FE™Y fam g 5 feomr fapar mae &7
1) ot 2) Ayl

3) WS 4) FmleI

109. ¥5 et f&F faw § I8 & fimrd am g=fonT
Trera?
1y fAnz
3) R

faas
fex

2)

HaT 4)

110. Gas 33 faga 158 feg udt et 37

1) FUNFS 2y WHIUNTT

3y MAITHES 4) TUNHEE
111.UFgeT Ry 3 gz afae faoard?

1)  ufenmsr 2) St

3) | fese 4) gf&sr

112 9= Wy 3a 3 fad fad e o8 d9g ffg teraier
e et

1) TEHMI IIEIT 2) SIIAEFTHEIT

3) TSIV YBIEIT 4) WgHSIEIT
113, anste faRet a9l T a7

1) SowIferus 2) I

3)  ASHIEIHY 4) wEIA

114 . 4I9em o forg a8 AF T e HatAarE fagar 47
1) HIIHIHGNE 2) WOHITATIT
3}  fdevotaar 4) wTIdfed HITHERE
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115. Production of tea requires:

1) Hotclimate and high rainfall
2)  Cool climate and high rainfall
3) Coolclimate and low rainfall
4) Hotclimate and low rainfall

116. Where is Nanga Parbat located?
1) 2) Himachal Pradesh
3) Assam 4)

Jammu and Kashmir
Nagaland

117. On the basis of climate, to which type of vegetation
the plants like date, cactus and thorny bushes belong

ta?
1) Deltaic 2)  Evergreen
3) Deciduous 4)  Desert

18

115 R U Bt 8= -

1) FeHASTE W famrer ggyr
2) ST ASTEHS famrer gy
3) P ABTUMIWTTar
4) IO ABIY HI W Tayr

116. 39 ugaz fReRfag 7
1) Hywdamie
3) WAEW

fovrasyow

G -F-

2)
4)

117. AB<W & WUF 578 YET, 599 »3 d309 95t fam

famr et sasruA s Tz o5
1) 3Bseet 2) AETEIT
3) vagH 4)  WgEs}
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CIVICS

STaIfdd HTAST

118. Which of the following is not a feature of Indian
Constitution -

1)
2)
3)
4)

Federal in form, but unitary in spirit
Parliamentary form of Govt.
Democratic centralization

Democratic, socialist, sovereign, secular and
Republic

119.Under which Article of Indian constitution untoucha-
bility is abolished and its practice is prohibited?

1) Atticle 17 2)  Article 16
3) Atticle 19 4)  Article20

120. Which of the following is not the feature of preamble
of India constitution -

1) Equality
3} Justice

2) Liberty (Freedom)
4)  Dictatorship

121. Which part of Indian constitution, orders the state to
implement Panchayati Raj in India?

1)  Directive Principles of State Policy (Part-4)
2) Preambie (Starting of Constitution)

3) Fundamental Rights (Part-3)

4) Local Democracy (Part-9)

122. Which countries are under ‘SAARC’? 7
1) SouthAsiancountries 2) Europeancountrics
3) EastAsianicountries 4) AllAsiancountries

123. Which Indian leader can be given the credit of
beginning together 562 Princely States, thus making
aUnited India?

I) Pt.Jawaharlal Nehru

2) Mahatma Gandhi

3) Sardar Vallabh Bhai Patel
4) Indira Gandhi

19

118. 35 fadut a9 faoat geg Afears ot feimar st 37

1) =EI9feoiuava Tonms feafearays

2) HRETHRE ySHT

3) BadgdtaTdanE

4) BIAIIIA, MATE, YFINTUE, geHfaTuy,
JEII9

119. I3t AIQUs & fan mgde It g9ev & Hatdt aga
feRg yaW atgT fapr 37

mEeT 17
naev 19

2) wgewlé

wEEw 20

1)
3) 4)
120. 35 fanittt &9 faraar ST ffeas Ayraearfe's
FAT?
AEgT
fomt

ECrEY

LU o]

Iy 2)

3) 4)

121 Afers erfaasr fow sz fegiofedtaadtrgusT
a5 errer feer -

1) It atSt & fooumy oz @ma-4)
2) YA (Afeus et ggms)

3) Hfsanfoarg (3mar-3)

4)

AYEE BaS3d HOlE (F791-9)

122 ‘A’ valE faag e @8 us?
TS EETE o
gouyTew

yaet et S e
AT STt Oy

2)
4)

1)

3)

123. faw 9793t 337 & 562 SHt fawmgt (@femi) § feaasr

598 I ST HHS qa5 & T AT
1) TA=9Iz B sfag
2)  HUSWTErGr
ROEg TR I FEIUSE
femgrardt

3)
4)
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124, [ndian Parliament -

1
2)
3)
4)

To help the deprived people
The highest body to frame laws
To provide social security

Open Bal Bhavans for development of children

125. Coalition Government is known as:

1)

2)

3)

4)

A government made up from single political
party.

A government made up from two political
parties.

A government made up from many political
parties.

A government of Dictatorship.

126. How many representatives (members), Punjab send
for Lok Sabha and Rajya Sabha -

)/
2}
3)
4)

127. Under which scheme, girls are provided Bicycle in

Lok Sabha-13
Lok Sabha -7
Lok Sabha-2
Lok Sabha - 545

RajSabha-7
Raj Sabha- 13
Raj Sabha-12
Raj Sabha - 245

Punjab-

)]
2)
3)
4)

Punjab Welfare Scheme

Schedule Caste Welfare Schiéme
Mata Sahib Kaur Welfare Schermne
Mai Bhago Welfare Scheme

128. The Finance Bill (Money Bill) can be presented in -

Y
2)
3)
4)

only in Rajya Sabha
only in Lok Sabha
In both chambers of Parliament

only in courts

20

124 FradtAne -

1)
2)
3)

4)

YHaTa safaat & Farfegragat d
Tgs sTgE @B AT T

| e e fedT wetat 5@t §

Tfont T feaR st I8 8t g

125 . I5HUS T8 AgAd GR A § Wrad I5 -

1)
2)
3)

4)

a fé'a ow v yIifaut 3 sret ot Aearg Je1 91
Faew vos S Ayt I gt ST Feae 9
faet ont T yAfau T ae ol Reaa J< |

FISHIRIAI I T

126 A FA ST AT I TH AgT i T fag Hag Iaerd-

1)
2)
3)

4)

BgRIT- 13 THAI -7
BaRIT-7 THAT - 13
BaHIT -2 FHAFT- 12
STRAIT- 545 FHAIT - 245

127. {re {9 sFavat & Aetas faw A widts '3 Aie

aﬁ_

1)
2)
3)

4)

mg Iuvet
ngufes g FBETAAM
HIIUHTIIH 4 FBTE A
HTET FTAFB Tl HaH

128 .45 fag tgaigraterd -

1)
2)
3)

4)

JEBTAHT Eg
=z &ansrfey
o5t RSt fEe (e o)

aFesmoezsfea

For Exam Preparation & more content check website https://nmms.successadda.in/


https://nmms.successadda.in/

HISTORY
fefgam™

129. After Huin Tsang’s visit a new name used for India
is

1} Aryavarta 2} Indus
3)  Yin-Tu 4) Hoddu
130. Who adopted the Doctrine of Lapse
1) LordDalhousie 2) Lord William Bentic
3) Lord Auckland 4} LordHarding
131.Which was not a Land Revenue policy.......................
1)  Permanent Settlement

2)  Dual Administration in Bengal
3) Ryatwari System
4) Mabhalvari System

132.First tea Garden was planted by the Britishers in
ASSaM iN.....ccooovrveiinnn,
1) 1850 2) 1852
3) 1854 4) 1856

133. The Revolt of 1857 A D. started from......................
[} Barrakpur 2) Delhi
3) Kanpur 4) Lucknow

134. Who opened three school for the lower caste girls in
Puna?

1) Veersalingam 2) IJyotibaPhule

3) PeriyaarRamaSwamy 4) Dr. B.R. Ambedkar
135. When did the muslim Anglo Oriental College
become auniversity?
1) 1910 2) 1925
3) 1920 4) 1915
136, Parthians are KNOWI aS......c.oooeuiiee e orenenns
1) Shak 2) ‘Pallav
3) RashtraKoot 4)  Kushans
137. Who was the first ruler of Delhi Saltante?
1) QutubdinAibik 2)  Illtutmish
3) Balban 4)  RaziaSultan

138. When did Nawab Siraj-ud-daula become the Nawab
of Bengal?

1) 1850 2y 1756
3) 1726 4) 1750
139. When did Chandergupta Maurya become ruler?
1} 297BC 2) 270AD
3} 297AD 4) 270BC

140. Name the founder of Hyderabad State?
1} Nizam-ul-mulak 2) HaiderAli
3) TipuSultan 4)  Siraj-ud-daula

21

129. 993 e fofamardt arug i@ sasd ...
fagrarewar

1) wdtreas 2) femw
3 fez 4) Ig
130. Bur et s fan d wset ity
1) Z9IFIEIAT 2) saFfesmrdfes
3) BYEAHABT 4) segaafEar
131.95 fgfint f&'F faust mars yerat st it
1) FAEEESERT
%rmammw
3) JEhHITItUET
4) wisestyig ,
132 @R & A ST UfosT ora o graras sanfenr /e
1} 1850 2) 1852
3) 1854 4) 1856
133.1857 ¢t erfecsu fa® gg Sfemr ri?
1) #9aud 2) fest
3) asug 4) TwHg

134, fan & 31 Tt oot mIata w8 yE 29 faa Raw
& AG?

1) <enfdam 2) +fgerg®
3)  USPHI IHT I 4) FT.IHIQ EeIT
135 WRfSH WIS G es arew gat=aet aa afenr?
1) 1910 2y 1925
3). 1920 4) 1915
136\ TEETEHE .. b &t aE e e S?
1) mF 2) Usw
3y FHeEe 4) gHE
137. T8t msIag o ng 3 ufos Rsas d= At?
1) gIudtsmEd 2) fesgafug
3) 939X 4) qEMTASIS
138. 5= A HE<S s forg erserg o gfzmr?
1) 1850 2) 1756
3y 1726 4y 1750
139. Y93I Kt ITAdI ol I T Bfgmi?
1) 297BC 2) 270AD
3) 297AD 4y 270BC
140, dwgare gwdt stT fan s ant?
1) fszm@s-vsa 2) deTwmt
3) duEsIs 4) frew@<sr
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145,35 fatyar=s & sl mEa »idr Rt (v) T fams arg|

HaTe g JET - :

1) YITTEEwIET v 4 (2) | AASTANS [ ]

(3) sgIHfiarder =] &y | TEg3ERIE [ ]
146. 97 feasut yas @ sta g rmand (v) fema sar

frrei IR wIAE I
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ENGLISH
watat

Q-167-171. Read the passage carefully and answer the questions that follow:

After spending a day at the beach, Mr. Lee drove his fami ly to a nearby food centre. They were very hungry, as it
was already eight *O clock at night. The place was crowded with many people and tourists. The Lee family went
from stall to stall to see what they would like to eat.

There was an empty table at a chicken rice stall and they decided to sit there. Mr, lee ordered chicken rice for
himselfand his wife. Their daughter Mary, ordered a bowl of noodles. A fter the meal, they went to see a movie.

167. The Lee famity had atthe food centre.
i) breakfast i1) dinner
iii)  lunch v) supper

168. The word « " means that there were many people at the food centre.
i) family i) crowded

iii)  nearby ) already

169. Tourists are people who

i)

iii)

live in the country ii) cat at the food centres

work at the beach iv) travel to see different places

170. How did the Lee family go to the food centre?

i)

i)

They wentinacar if) They took a taxi
They walked there iv) They took a bus

171. Which of these statements isicorrect?

i}

iii)

They went home after eating. it) They went tothe cinema after eating.

They went back to the beach aftereatin g iv) They went for a walk after eating.

Q.172-176. Choose the correct word which best fills -~ blank from the given four options,

172. The colour of the walls in my room has faded

i) in ii) with
iii)  away 1v) on
173. Toerris , to forgive is divine.
1) humanity i) human
ili)  mankind v) inhumanity
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174. She opened the and took out the letter.
i) sack : i1) carton

iii)  envelope iv) box

175. Heavy rain sometimes causes

i) floods i) earthquake

ili}  drought iv) diseases
176. An person is one who does nothing.

1) empty i} idle

i)  envious 1v) obedient

Q. 177-178. Choose the synonym of the underlined word from the given options.
177. The librarian asked the children to be sifent because everyone was trying to study.
i) noisy ii) boring

i)  early iv) quiet

178. The girls were surprised to see the heautiful flowers.
i) frustrating i) fast

iy  pretty iv) orange

Q. 179-180 Choose the antonym of the underlined words from the given options.
179. He is a stropg man.
i) weak ii) powerful
iii)  sturdy i) happy

180. His garden is very large.

i) big i) enormous
iti)  small iv) huge
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